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What is grace?

a. non-killing b. not eating flesh

c. not-eating meat d. all of these

e. answer not known

DI(HeT el IL(hougl Wimg?

a QBTEVLEVTENLD b. oo o ewienITenLD
C. L|6UT6L ©_GuoT6mITemLD d. el SiEmeTSHHID
e. alemL O Mwalsdenev

uNNaamai uLLadhu uyirnhilai oonuNNa

alNNaaththal seyyaadhu alL.aRu

In this Kural the term alaru means

a. veenseyal b. kalarnilam C. naragam
d. allal e. answer not known

“ cuTenITenlD 2 6iTeNgl 2 UIMHIeN6V 2616316116501 650T

DIWIMTHHE0 OFULIWLITH  SleTmI” 6103 GMmerled 2 6ol “OlenmI”

QFmTeveVleT QUIT(MET Wimgl?
a. efemrOFuIeD b. senfilevid C. BI&ID
d. ©iebeved e. alewL Gxfuwalsdensv

Form of the Penance is

a. tolerating the suffering

b. Not to cause suffering to other lives
c. Penalty for offenders

d.aand b

e. Answer not known

HUHSH MBI 6UQaID WITHI?

a. el UMM HSUSHMSL CLIT®ISHSH6E0
b. B 2 wWiesEhdE SHISLD GFUILTENLD

C. o aleneNalHCHTTHEG HEWILLD UPHIFH6D
d. a wmupid b
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4.  What can be achieved immediately with the power of Penance?
1. Suppressing the evil enemy
2. Appreciating a friend who does good
3. Making the dry tree sprout

a.1,2 b.1,3 c.2,3 d.1,23
HoUSHH T aIeJIMOUITED HlMaTHdH DieMalled o 6wl MG6UeT 6lenel?
1. S GFUIULD LIHBIM] DL &G H60

2. BEIGOID GFUILD HEWILD] 2 UITHSHISH60

3. auBmeL WIHmP HleliTHaF CFUIHe0

a.1,2 b.1,3 c.2,3 d.1,2,3

5. Find out the figure of speech of the following Kural
As if a steer should graze wrapped round with tiger's skin,
Is show of virtuous might when weakness lurks within.
a. Uvamai ani b. Uruvaga ani
c. I[lporul Uvamai ani d. Uyarvu navirchi ani

e. Answer not known

aUeVlUlled [HleM6VEMLOUITEIT  GUELEVI(HEULD GILIBMLD
Lelluler@spmev GumitdhaICoulh S

BéGHMeMed LUlIBl aUIHD Sjeml WImgl?

a. ©_6lenLowleuT b. 2_(reus 6w

C. BeLOUTIHET 2 _6IenLDUleNnT d. o wire pHelBduiend
e. alemL OHMuwaleLenev

6. Find out the Kural which says men must be estimated not by their

appearance but by their deeds.
a. Many wash in hollowed waters, living lives of hidden shame;

Foul in heart, yet high upraised of men in virtuous fame.
b.Outward, they shine as 'kunri' berry's scarlet bright;

Inward, like tip of 'kunri' bead, as black as night.
c. In mind renouncing nought, in speech renouncing every tie,

Who guileful live,- no men are found than these of 'harder eye'.
d. Cruel is the arrow straight, the crooked lute is sweet,

Judge by their deeds the many forms of men you meet.

e. Answer not known
DB  LIGWILIB6T  DleuTauT CHTMMHHTED  DIGLEVTION  OIFUIGVAIENSUITED
o ewiMbhl OFbmeiten CouewiBLD 61601 2 _6WITHHID GMm6T 61517
A.1060TSHSHSH| LOTFTSH LOTEUILITT BT
LOMBHOST(DG LOMHSHIT LIGOT
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10.

b.upRIGe Sewui_amear Grenid &iHmIE 6
(WPSHM SAWTT 2L Sl

C. OpehFlett FHIBeutT HIWHHTTOUTEL 6lEhSF SHal
aUTLPeUTTl6sT GUGITEHGMITT )60

d. semeaniOsmggs WTPCHTH GCFeialEHIeub &6t
allemeTL® LIT60TeD GBITeITeD

e.alemL  GFHfwaledensv

The fraudful forfeit life and being here below;

Who fraud eschew the bliss of heavenly beings know.

In the above Kural the term heavenly beings means

a. New world b. heavenly world c. This world
d. None of these e. Answer not known

HOUTTHGHSH HoNEhlD 2 uliiblensd HeTeUTTSGHS

ST USHCH @Mhend,

CuoBaramid @meied UHGCH @hen@ eleilgher GUTHeT ulmgl?

a. Usl o 60D b. Goevievasid C. ©6I6a|60HLD
d. @mear ggifevemev e. alewl OHfluialedensv

A metallic sphere of radius 16 cm is melted and recast into small
spheres each of radius 2 cm. How many small spheres can be
obtained?

a. 496 b. 512 c. 672 d. 768 e. Answer not known

16 GF.10. oupeTen @ o Geomd UbhFH, 2 (HBHIULH 2 CF.15. SLI(LpeiTen
Fml LbSHISMTESLILILLT6D, 616HHM6T LbHHIH6T SHenl sh@G?

a. 496 b. 512 c. 672 d. 768 e. alenL  OFHfluialevensv

The radius of spherical balloon increases from 12 cm to 16 cm as air
being pumped it. Find the ratio of the surface area of the balloons in
the two cases.

a.9:16 b.9:14 ¢c.9:13 d.9:15 e. Answer not known

@ Gzmenm augeu LTI STBMI o HHUUGWL Curgd DiHer D 12
QF.15 elpha 16 OF.10 S o wmABH. h yUpliugliyseier aldlsd
ST,

a.9:16 b.9:14 ¢c.9:13 d.9:15 e. alowL Gxfwailsdensv

If the total surface area of a cube is 726 cm?*then find its volume.
a. 627 cm? b. 276 cm? c. 1331 em®
d. 3311 em® e. Answer not known
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11.

12.

13.

14.

RH SOFFHTHIHT CQTHBHILTLIL] 726 QFS 6Tefled SHIH HeT 66
a. 627 Q& b. 276 Qg3 c. 1331 Q&3
d. 3311 Q&5 e. alewL OFNwalevemsv

“Veracity” means

a. speaking truthful words  b. speaking words not harming others
c. speaking boldly d. speaking sweetly

e. Answer not known

QUTUWIGNLD  6TETLILI(H6US)

a. 2 enrenenuwl GL&gigeo b. FhGHITES CFTBasmentl GLFH6L

C. awpMwiors Guaigev d. @afemwwns GugisHed

e. alemL O Muwaledenev

Which one is the best among all virtues?

a. Veracity b. Learning c. The Greatness of a King
d. None of these ~ e. Answer not known

SIBRIBEHET FBHSH SIBLD

a. euTUIenLD b. seval C. Benmiom &

d. eewauud Bevenev €. alenl  OHfluialedenev

Which one is the best among all virtues?

a. Veracity b. Learning c. The Greatness of a King
d. None of these  e. Answer not known

DIBHEGEHET Fpbs DL

a. euTUIentD b. seval C. @emmioT g

d. eemauud Bevenev e. alenl OHfluialedenev

Match the following committees on panchayat Raj with their Chair

persons.

Committee Chairman

A. Panchayat Raj elections 1. G. Ramachandran
B. Panchayat Raj Training centres 2. V.R. Rao

C. Community development and

Panchayat Raj 3. K. Santhanam

D. Rationalisation of Panchayat Statistics 4. Smt. Daya Choubey
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15.

16.

Q0 o
=W W
W R =T
=N =N
N W NN g

e. Answer not known
LEehdTWHS T UBBIU GH(DHHMET DIH6T HeNeVaU(HL T OILIT(HEHHIH:

LehdTWSHSH! &L SHED6VEUT

A. uehsmws sl Trey BHiTH6ED 1. 2. gmoFgHSHTer

B. uehsmwsbam gred LUIBS ewDWIMIS6IT 2. &l. &Y.gmell

C. gupamw Gubur@d UehFTWSHSHITTEICD 3. Gs. shHHTEID

D. uehamwsbal gregeid yetefuluwied uGUUTUISHeD 4.8 [Hogd st FeyGu
A B C D

a 3 4 1 2

b. 3 1 4 2

C. 4 1 2 3

d 1 3 4 2

e. allewL Oxfwalsdensv

Choose the incorrect match

i.  Suba - Sipahsalar

ii. Sarkar = -faujdar

iii. Pargana - Shiqdar
iv. Village - Bakhshi

a.iand ii only b. ii only c.iii and iv only

d. iv only e. answer not known

CUTHSBHD BevevTHauBenBs CHTHOSHHHHLD

1. &um - FlurgmeolT

1. gTésrm - QuenXaTi

1. uTstemm - FeHT

1v.  &lymolb - UG

a.i @b il w @G b.ii wl @G C.iii @b iv ol Bib
d.iv L @G e. alewL G flualevensv

E.V.R Maniammaiyar ninaivu marriage assistance scheme is meant
for

a. Orphan Girls b. Couples of Inter-caste marriage

c. Daughters of Poor Widows d. Widow Remarriage

e. Answer not known
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17.

18.
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F.Ceulgm.  wedlwbenowimT  Hleweley — SH(HDewT 2 HalGHSHIL L LD
DIUTHEOEHSHBTH 2 (HUTHBLILIL (HeTTeGI.

a. SEHIeUBMm  GlLewTSH6IT b. seuliysh Hpemid QFUILD HIDLIHSH6N
C. g alHmeulT HeTser  d. aldemel LOBILETLD

e. alewL OGFHMwalsvensv

Match List I with List II and choose the right answer:

List I List II

A. Cradle baby scheme 1.Take care of economically backward
women

B. Service homes 2. Empowerment of rural women

C. "SAKHI" 3. Save the girl children

D. Mabhila Shakti Kendra 4. Support women affected by violence
auflewg 1 & aufleng Il-o Ler QuTmeHSH sfilwmer alemLemw CaibOHBHS:
aufleng 1 auflens 11
A. OaTlYed GWHMSH HLLD 1. QUTHMTHTISHH 60 LleIHmiguleimer
OILIGWTBEMEN  LITSISTLILIG

B. Ggemau ©e0evmISH6N 2. FPmolym CUeHISEHHE UHBTTLOGTILIL
C. 5 3. Q6T GLHMBHHN6ET LTHIBTLILIG
D. wdenmm F&8 Gabaym 4. GUEI(LHEMBUITED LITEHaLILIL L
CUENTIHEHHEG 2 FH66UF
A B C D
a. 1 4 2 3
b. 2 1 4 3
C. 3 1 4 2
d 4 2 1 3
e. alemL G Mwealedenso

If the base area of a hemispherical solid is 1386 sq. metres, then find
its total surface area.

a. 4158 m3 b. 4158 m? c. 4185 m2

d. 4185 m e. Answer not known
R S Dewgd Camenggler ougliugliy 1386 &5 eleled, DIHT
QOTHSLI LBLILTLIDLIS SHT60IS.

a. 4158 13 b. 4158 12 c. 4185 152
d. 4185 18 e. alewL O flueledensy




19.

20.

21.

22.

23.

The length, breadth and height of a cuboid are in the ratio 7 :5 :2. Its
volume is 35840 cm3 then height is
a.8 cm b.16 cm c.24 cm

d. 32 cm e. Answer not known

R HOIF OFeIaBHH T HoNlD, DB WBBID o wgHHer &g 7:5:2
IOBBID &6l Sjema] 35840 GF.10 *elefled o WITHH T Siere.

a. 8 Q&.16. b. 16 Q.15 C. 24 QF.16.

d. 32 Qg.16. e. alewL Gz flwealsbenso

The heights of two circular cones are in the ratio 2 : 3 and the
perimeter of their bases are 3 : 5. The ratio of their volumes, is

a.2:5 b.6:15 c.6:25

d.3:5 e. Answer not known
O aulLd Gmblseie o wImiseieal aldsd 2 : 3. SeuBmler ueF
Gmmenaseiel  aldSHD 3 : 5. SeuBmledt HeT DI6NEH6IMN6T IS HID

a.2:5 b.6:15 c.6:25

d.3:5 e. alewl OFHflwaledensv

During the rule of Humayun, Bihar was under the control of

a. Bahadur shah b. Baz Bahadur c. Mohammd Zaman
d. Sher khan e. Answer not known

anSiomuyer i Fullerr Gurgl, LTsmeny LeoTLeuT WmT?

a. USBGTT QT b. uTag uBSNT C. (IpHLDFH! ARTLOGHT

d. GegT ®mes e. alemL  Ggflualsvensv

“Lal Qila” was constructed of red sand stone by

a. Jahangir b. Shahjahan c. Akbar

d. Aurangazeb e. Answer not known

Faubd 106w HMBEMTE0 S LLULLL  ‘60T60 &Hleom eIILBLD CHTLemL_emuid
BL_IQUIGUT

a. SQOBTRIST b. egreammes C. SIBUT

d. el e. alewL G flualevensv

The Tamil Nadu State Government programme which is conducting
adolescent clinics at the schools for the promotion of school children’s
health is

a. Nalamana Tamizhagam b. Vazhvoli Thittam

c. Pudhu Vazhvu Thittam d. Kudumba Nala Thittam

e. Answer not known
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24.

25.

ueiTelaeriled LUNeVID LoTemTaUTHe TN © 1 60 Hevewedt GIDLIGSHS Ueierlderle0
QuemTlend Li(HeY LO(HGHSHIIDMGITHm6T OlFuIeOLIBHSHSH B SOIDBTEH  LOTHI60
Sdlent FHILID LG LD.

a. HeVIDTET SHLOLPSID b. ampGeameid HiLib

C. Usl aumpeyd S LIb d. e&Gwu Bevd HiLID

e. alenL OFHfwaledensv

Consider the following statement:

i.  Beti Bachao Beti Padhao Scheme was launched in Cuddalore in
Tamilnadu.

ii. Beti Bachao Beti Padhao Scheme was launched in Dharmapuri
because Child sex ratio is the lowest in the State.

iii. Child sex ratio for Tamil Nadu is 943 /1000 in 2011 census.

iv. Child sex ration for Dharmapuri is 647/1000 in 2011

Among the following statements, which are correct?

a.1and iii are correct b. ii and iv are correct C. 11, 111 are correct

d. iv alone are correct e. Answer not known

LNeiTeU(HLD Fn@Bens SLTTUIS

1. Guily wsFGasm  Guiy uwkT FHLb  SOWBTLIQGEL  SLeITe0
SHIUBIBLILIL L F).

1.  LIHeHHCVCWL  GWbHme uTedal alFHD GHDHBEUTES ©_6TeNHT60
smoyfluled Cuiy usFBam Cuiy uBshT FHU LD HeumSULL LI

iii. 2011-60 SWOWPBT 1960 GWhewd UTeler aldsd 943 /1000  1D&HH6N
OPHTmE H6nH0lBBLILIGD 6TTLISTGLD.

iv. 20110 @bmgd uteder oldsd  SHrogfluled  647/1000 s

B®HHEDSI.
a.iwmmub iii gl b.ii wBmb iv &M C. i, iii &
d.iv L @G e. alewl OFfwailsvensn

Under the Dr. Muthulakshmi Reddy Maternity Benefit Scheme, is the
financial assistance disbursed to poor pregnant women is Rs.

a. Rs. 18,000 b. Rs. 15,000 c. Rs. 20,000

d. Rs. 25,000 e. Answer not known

LT&SLT  (PpHBIO0L &0 1Y wslCup o Hald HLHIHE SHD g
STUenll QU6 Ehdh@ aUPRISLILGLD BHHuHal p.
a. ep. 18,000 b. . 15,000 C. . 20,000
d. em. 25,000 e. alewL Gafwalsveney
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26.

27.

28.

29.

30.

The master gunner in army of Babur at the battle of Panipet
a. Ustad Ali b. Zafar Khan c. Humayun

d. Hindal e. Answer not known

uteiul  Gumfled uTufelr @ITamioushHed BHHS HMLAIBHSH HIILTHS
oy

a. 2 auansH el b. egm..ufsmest C. QUBPLDTULGHT

d. anflewrmev e. alewL G flualevensv

The AMRUT Mission in Tamil Nadu focuses on

a. Provision of basic services b. Milk Production
c. Rural transformation d. Education

e. Answer not known

SOHT 90 AMRUT - &1L gdHer Gprésid

a. SIQUILIOL UFH BT SH(HeUSI b. uted 2_BuSHSH
C. 261J% LIGHBM6T LOTMBS DIenLDFH60 d. seval

e. alenL G MwaleLensv

A sector containing an angle of 240° is cut off from a circle of radius 42
cm and folded into a cone, then the curved surface area of the cone is
a. 4624 cm?3 b. 3696 cm? . 6369 cm?

d. 6639 cm3 e. Answer not known

42 QF.18 Speten @ UL SHHemHESH 240° mwIEGHTERID  OBTewIL
R el L&sCsramiugdemw  Gaully  aBHH,  DDHET  DJHIBN6N
RO SHSHI @(H FnlDUTHBHNMED SHlenL G FnlDLN6T 6UemEITLITLIL

a. 4624 QF.53 b. 3696 Q&.153 C. 6369 OQF.13

d. 6639 QF.53 e. alenL  Ggflualsvensv

The sum of radius of the base and height of a cylinder is 37 cm. If the
total surface area of cylinder is 1628 cm?. Find volume of the cylinder.

a. 3620 cm? b. 4800 cm? c. 4620 cm?

d. 5400 cm?2 e. Answer not known

QM 2 (hwenulel SigLIbs QUJD OBHDID o TSl FmBHe0 37 0F.16.
o mewenullesr  Gords  Guomuriy 1628  F.605.15 eeled o (Hewenullen
B D66  HIT6ITH

a. 3620 cm? b. 4800 cm? c. 4620 cm?2

d. 5400 cm? e. alenL Oxfluialevensv

The total surface area of a cone of radius 7 cm is 704 cm?2, then slant
height of cone is
a.20cm b.25cm c¢c.28cm d.30cm e. Answer not known
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31.

32.

33.

7 QF.15. Suy@eiten @ dwblier Owrshsd ugliueme 704 GF.16.° eefled
FmujuLd

a. 20 G&.18. b. 256F.16. C. 28 QF.16.

d. 30 GF.15. e. alewL Gz flwelsdenso

When was the Panchayats (Extension to the Scheduled Areas) Act
Passed?

a.1993  b.1996 ¢. 1995 d.1998 e. Answer not known
UehdTWHS (RHSBIULL UGHHBEHSHEG BHligl]) FULID Suipmli’ L
IO

a.1993  b.1996 ¢. 1995 d.1998 e.alew. Oaxflwaisdenev

Which of the following statements regarding Panchayats Raj is not

correct?

a. State legislature may make provisions with respect to composition
of Panchayats

b. State Finance Commission is appointed by the governor after every
5 years

c. Gram Sabha includes all persons in the electoral roll within a
Panchayat

d. Compulsory one third reservation for SCs and ST's

e. Answer not known

LEhaTWHS JT) GMIHS LU FaBBIHeNed SHaUBTaindHsd Hewil s

a. eaim’ & Siemwlider o mitifer GBHEH (WYLaHHGID DIHSTID LOMH 60
FLLOOIBSHHBE UPRISLILIL (HeiTeng

b.omhleo  BFSGW  BESIWCEESG  QBUPMB  ENHITED
BWILOSHSLILGS MBS

C. HIMD  Fewu el oapTl Fufled 2 6o SewATHSH UHe| OCuBs
QUTHBTOTHENETUID 2 6iToNL_SHUIG

d. ' pwelars@arT  BmpId  upRGLUIEREE 1/3 @  GeBWITLDe
B 95H15HBH aupmISLILL Gouewi(BLD

e. alewL GHflwalsvensv

Match the following;:

List -1 List - II
A. Battle of Khanwa 1.1540 A.D
B. Battle of Ghagra 2.1539 AD
C. Battle of Chausa 3.1529 A.D
D. Battle of Kannayj 4.1527 A.D
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34.

35.
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Qn o
=N W N
W = W
N WN = A
e N

ulguied I o Ler uliuwed II s QuImSE UlQUIDSEHEHGHS SO
o gitenn allewLenwl OFHfley GCFUIs.

A. sreteurtt Guimir 1. &0, 1540

B. sraym Guni 2. &, 1539

C. Qgenamy Gunmf 3. &L, 1529

D. sa@iGeandll Gumi 4. &.4. 1527
A B C D

a. 2 3 1 4

b. 3 4 2 1

c. 2 1 3 4

d. 4 3 2 1

Consider the following statements

1. In 1688, the first municipal corporation in India was set up at
Madras

2. Lord Mayo’s resolution of 1870 has been hailed as the ‘Magna
Carta’ of local self government

Which of the above statements is/are correct?

a. 1 only b. 2 only c. Both1 and 2

d. Neither 1 nor 2 e. Answer not known

LNesToU(HLD FnMBmISeneT LIS

1. 168880  Spewih  @bHwralet  (1pHev  OMHSITLF Ol grdled
DIMDSBLILIL_L G|

2. GuBuir dyyeiler 18708ub SLewiB SHTOTEID 2 6TenTl &  DITFTHISH S 60
LDHTFTFGID 6T DIMIPSBLILIBHBSI

GuBanpflul FaBmIBeiey Filwimaremneal 6ig / eleneu?

a. 1 B b. 2 (B c. 1 ommid 2

d. 1 wpp 2 @rewid e sl G fwalsveney

Identify the correct statements regarding cloned female calf named
‘Ganga’




36.

37.

38.

1. It is the first cloned female calf of the breed gir

2. It is capable of producing 30 litres of milk per day

3. It was produced by the National Dairy Research Institute Karnal

a.1and 3 only b. 2 and 3 only c. 2 only

d.1and 2 only e. Answer not known

‘emIsT  elelUBl  @GGenmer  GFLIWLLLL  HldBES @SS  Flwime

FnBHBIHN6TH HEIL NS

1. @568 wpzpe0 GGenmer GeuiwILLL &l - Beaidbmssd GCoFibdh L&ss
SHDMWTGLD

2. B3 @ BTmend@ 30 LLT umed 2 BusHd CFUILIGEMIQUIGS

3. @31 sTemmeled o efen  GxpAw  umed  QITUIFS  BHBIeueTSHSHTe0
9 (HeUTSHSLILIL (HelTerg)

a. 1 wBmib 3 G b. 2 wBmb 3 wL G C. 2 WL (B

d. 1 wBpid 2 G e. alewL G flwaledensv

ISRO’s Programme for 9t standard students to develop passion for
space science.

a. VIGYAN JYOTI b. YUVIKA c. AIM

d. Science Olympiad e. Answer not known

99D GUGLILY LOTEIaUTHSEHGHE allenibeuell Sialuieded SiTeusHens 6U6NTTSHS
Bero@ym OFHTLmISUjeITen &l L LD

a. ailehehTarGayrd) b. welasm C. 6IUID

d. 9pfelwed @ealibllwm. e. alemL Gafuwailsvensw

The launch vehicle for Singapore Satellite TeLECOS - 2 is
a. RLV LEX b. GSAT - 12 c. SSLV - D2
d. PSLV - C55 e. Answer not known

@QLBeomerd 2 ereriu@Bld  FmslyT  QFwmensd  Csmenem  lewreniled
CFISHSHU  16wTHEVLD

a. RLV LEX b. GSAT - 12 c. SSLV - D2

d. PSLV - C55 e. alenL  OFflwelevensv

Curved Surface area of Frustum of a cone is

a. 2rr?h.sq.units b. 27rrh.sq.units c. rrl.sq.units
d. (R + r)l sq.units e. Answer not known

@(hH FnlbL1eT BeL HHEWILSHH 6 GUMETLITUIL| 6T6TLIS]

a. 2tr?h.s. 160G H6N b. 21rh. &. S60&®6i

c.mrl. & S0GHdH6i d. (R + r)l . oe0&H6N

e. allewL Oxfwalsvensv
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39.

40.

41.

42.

43.
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A hollow cylindrical iron pipe length is 28 cm. Its outer and inner
diameters are 8 cm and 6 cm respectively. Find the weight of the pipe
if 1 cu.cm of iron weighs 7 gm.

a. 6.93 kg b. 4.312 kg c.7.53 kg

d.7.93 kg e. Answer not known

QM 2 6TefLMB o (Hewel algal @B GWTuler BHeld 28 g0 g6
Qeuel BE@ID o 6 &l Lmisem (PedBBw 8 F.15 wBmb 6 5.5 eeie,
®mibys GTuiler eemlemul &Tenid. (1 &.605.15. S@ibiler eewl. 7 &ymib)|
a. 6.93 kg b. 4.312 kg c.7.53 kg
d.7.93 kg e. alenL Oz flwealedenso

If the radii of the circular ends of a frustum which is 45 cm high are 28

cm and 7 cm, find the volume of the frustum.

45 OF.15 o _wgQpeten QT B SHMILSHHT ES(H LB hImiseT (penmGul
28 Q5.5 wBmIb 7 OF.10 eefled, BN HHEWILHH M HA D66

a. 48410 cm3 b. 47610 cm?3 c. 47310 cm3

d. 48510 cm3 e. Answer not known

Girls sports company to train young women athletes is to be started
by
a. Indian Railways b. Tata Group c. Indian Army

d. Indian Airforce e. Answer not known
Bend  allewenwT (B @IJTRIGMISmeT LUWBpealss FpidseT alemenuim (b

B BI6U6T HeNSH OFHITLBIBE|6ITEN ]
a. @bsHw AruisvGe b. LmLm @upwid C. BpFHU BITemieud
d. @bHw alwremiuen,.  e. sl Gxfuwalsdensw

International Surf Open is to be hosted by Tamil Nadu in

a. Mahabalipuram b. Auroville c. Thoothukudi
d. Kodiyakarai e. Answer not known

FTauBahg DIMeFFBIHG (FT1) @uUET SODBTL 196D HL HDHa6Ten G LD
a. L&TLeVILJLD b. eGymaiev C. BNHHHSY
d. Gasmgwissemiy e. alenL OFHfwaledenev

Arrange the following countries based on their military expenditure

ranking in SIPRI

1. India 2. China 3. Russia 4. USA
a.1,3,4,2 b.1,4,2,3 c.2,4,3,1
d. 4,231 e. Answer not known




44.

45.

46.

47.

Heiteumld  BIGHmeT  SIHST  SuTamiens OFeveneull  GQumpisg  (SIPRI)

Syoufleng LG SHHIH

1. @byHwr 2. et 3. geduwm 4. 9CfdbaT
a.1,3,4,2 b.1,4,2,3 c.2,4,3,1
d.4,2,3,1 e. alenL  Ggfluialsvenev

According to India Justice Report 2022 best state prison department is
a. Kerala b. Tamilnadu c. Goa
d. Odisha e. Answer not known

@b b oPsmas 2022861 Uy FpHEH FoOBHIIOBOWIS OCHTEIIL
LDT[Bl6VLD

a. Gayen b. s0pHTH c. Gsmmeur
d. g@uar e. alewL G flualsvensv

India’s position in World Bank’s Logistic Performance Index (2022) is
a. 38 b. 44 c. 54 d. 77 e. Answer not known

® 0% m&HUlET  uTMeigdherd  OFWELHMBeT  GHBIUIL1geL (2022)
SbhHwmaler GL b

a. 38 b. 44 c. 54 d. 77 e. alewl OFHfluialevensv
The theme for World Book Day 2023 is

a. You are a reader b. Celebrating Literature

c. Indegenous Languages e. Towards a reading city

e. Answer not known
® 608 LUHDHD SHleold 2023601 SHHLIOLIT(HEIT

a. BRISET e euTdLILTerT b. Bevdduismapd GsmemsiTHGTD
C. 2 GBI Oomael d. amdlésagbd parHma GCHrod

e. alewL O fluealevensv

Match the following

A. National Maritime Day 1. April 21

B. National Civil Services Day 2. April 14
C. National Panchayat Raj Day 3. April 24

D. Ambedkar Jayanti 4. April 5
A B C D

a. 1 3 4 2

b. 2 4 3 1

c. 4 3 2 1

d 4 1 3 2

e. Answer not known
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QUIT(HSHHIS

A. Bl &Le0aTT FHleorld 1. glgev 21
B. Gxdlw @emioliLieniseT Herbd 2. gliyed 14
C. Gapdlw uUEhaTWHSH JT83 FHleorld 3. gliged 24
D. @ubCusasit Limbs SHeld 4. gliged 5

A B C D

a 1 3 4 2
b. 2 4 3 1
C. 4 3 2 1
d 4 1 3 2
e. alemL O Muwaledenev

48. There is some water in a cylindrical vessel of diameter 60 cm. If a
sphere of diameter 30 cm is merged completely in this water, then the
increase in the level of water (in cm) will be
a.2cm b.3 cm c.4cm

d.5cm e. Answer not known

Filseney HewrewiT BFLULL 60 Q&5 eIllL (pelTen 2 (Henem 6UIQelLl
LUTSHHTSHHeL 30 GF.0. all L (pelTenn @(h SHlewind CaTensHme (H(LISHIOTS
PDBF CFUISHTL, 2 (HEW6T alQaIll LTHHTHPH6L 61HHement OF .15 HIToL L LD

o WI(HLD?
a.2cm b.3 cm c.4 cm
d.5cm e. alewL Gxfluielsbensy

49. 12 spheres of the same size are made from melting a solid cylinder of
16 cm diameter and 2 cm height. Find the diameter of each sphere.
a.4cm b. 6 cm c.8cm

d. 10 cm e. Answer not known

@Craugeupeien 12 Gamemmidemenr 16 OF.ball LD  bB@bd 2
OF.152_wig(peTene _(Hewemuled(HbgHle (hdba el HLILIHS B HI6T60160
Cameng et el LD HTewis

a.4 cm b. 6 cm c.8cm

d. 10 cm e. alewL Gxflwelsbensv

50. A cone of height 18 cm is made up of modeling clay. A child reshapes
it in the form of a cylinder of same radius as cone. Then the height of
the cylinder is
a.8 cm b.6cm c.3cm d.18cm e. Answer not known
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soroew Osmewi(y OFuwiwi’ L 18 OQ&F.15 o wyipeTen @@H gnlbedLl (M
GWhmd 6xH  uIUpeTeT T 2 (HEDETWTS  IBBIFIMBSH 6160160
o (Hemeulledl 2 _UWIJLD &Teuulb.

a. 8 Gg.8 b. 6 Q5.8 c. 3 Q5.6

d. 18 Gg.8 e. alewL OFNwalevemsv
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16
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20

A

B

D

C
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B
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25

26
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28
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B

A

A

A

A

B

33
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35

36
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38
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D

A

A

B

D

D

43

44
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43

50

D

B

A

C

D

D




